Probability and Statistics I

45-733, Spring 2002

Homework #3

Solution

Pp 192-4

3(a)

P(60,000 < X < 72,000) = P(X<72,000) – P(X<60,000) = 0.6 – 0.5 = 0.1

3(b)

P(X < 60,000) < P(X < 65,000) < P(X < 72,000)

0.5 < P(X < 65,000) < 0.6

15.
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Pp 204-7

25.

P(Z < -1.28) = 0.1

-1.28 = (r - 18.2)/1.6

r = 16.152

33(a)
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33(b)
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33(c)

Smaller

33(d)

P(Z < - 1.28) = 0.1

-1.28 = (t - 200)/20

t = 174.4

Pp214-6

35.   

E[X] = 900(0.2) = 180, 
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35(a)
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35(b)
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43(a)

Without correction:
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With correction:
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43(b)

Without correction:
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With correction:
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43(c)

Without correction:
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With correction:
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Pp 217-21

47.
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